

Simplify each expression. Remember, to add or subtract rational expressions, you must have common denominators (just like with fractions).

$$
\begin{aligned}
& \text { (3) } x-(3) 5 \\
& \text { 1. } \frac{(x+10)}{3 x-15}-\frac{(3 x-15)}{6 x-30} \\
& 3(x-5) \\
& 6 x-30 \\
& \text { 2. } \frac{2}{x^{2} y}-\frac{x}{y} \\
& =\frac{(x+10)}{3(x-5)}-\frac{(3 x-15)}{6(x-5)} \\
& \text { (6) } 5 x-\text {-6) } 5 \\
& \frac{2}{x \cdot x \cdot y}-\frac{x \leftrightarrow}{y} \cdot \frac{x \cdot x}{x \cdot x} \\
& =\frac{2}{2} \cdot \frac{(x+10)}{3(x-5)}-\frac{(3 x-15)}{2 \cdot 3(x-5)} \\
& =\frac{2 x+20}{6(x-5)} \Theta \frac{(3 x-15)}{6(x-5)} \\
& =\frac{2}{x^{2} y}-\frac{x^{3}}{x^{2} y}=\frac{2-x^{3}}{x^{2} y} \\
& =\frac{2 x+20-3 x+15}{6(x-5)}=\frac{-1 x+35}{6(x-5)}
\end{aligned}
$$

March 24 2014.gwb - 3/4 - Tue Mar 252014 16:20:19

$$
\begin{aligned}
& \text { 3. } \frac{5}{3 m}-\frac{2}{7 m}-\frac{1}{2 m} \\
& \text { 4. } \frac{6}{d^{2}+4 d+4}+\frac{5}{d+2} \\
& \frac{5}{3 m \cdot 7.2}-\frac{2}{7 m} \cdot \frac{3.2}{3.2}-\frac{1}{2 m} \cdot \frac{3 \cdot 7}{3.7} \\
& \frac{6}{(d+2)(d+2)}+\frac{5}{(d+2)} \cdot \frac{(d+2)}{(d+2)} \\
& \frac{60-12-21}{42 m}=\frac{27}{42 m}=\frac{9}{14 m}=\frac{6+5 d+10}{(d+2 k d+2)}=\frac{5 d+16}{(d+2)(d+2)} \\
& \text { 5. } \frac{x-2}{x-1}+\frac{6}{7 x-7} \\
& \text { 6. } \frac{3}{2 a}-\frac{1}{5 a}-\frac{2}{4 a} \\
& \text { 7. } 7 \cdot(x-2)+\frac{6}{7(x-1)} \\
& =\frac{3 \cdot 2 \cdot 5}{2 a \cdot 2 \cdot 5}-\frac{1}{5 \cdot \cdot 2 \cdot 2 \cdot 2}-\frac{2}{2 \cdot 2 a \cdot 5} \\
& =\frac{7 x-14+6}{7(x-1)}=\frac{7 x-8}{7(x-1)} \\
& =\frac{30-6-10}{20 a}=\frac{14}{20 a}=\frac{7}{10 a}
\end{aligned}
$$



